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8 1.21(2000, )P & f(lnz) = h’“%”,xjf(x)dz.
B Sr=c.fBf)= ln(1+e) U fCx) = ln(le-i-e)

Bk =— —fln(1+e>+f S —dz == In(l+¢) +z— In(1+ ) + C.

% 1.22(2000,00) R J arcsmf

‘1 RBRA= ZIarcsin\/;dW?: Zﬁarcsinﬁ—‘[ = 2 /xarcsinz+2 V/1—z+C.

dx
V1i—=x
M2 4 r=sine. W

B = ZJtcostdt = 2¢sint — stintdl = 2tsint + 2cost + C = 2 /rarcsinv/z +2 /1 —z + C.

i 1.23(2001,—) ;RJ arctane*

— . 2 I =t ede —_— i -2 3 LJ‘ —r — i de
®1 ERX 2 e “arctane” + 2.[——e2’(l+ez‘) 5 € arctane’ + 3 dx 2 T

S— %(e‘z’r arctan e + e * 4 arctan e*) + C,

M2 4 e = tant. M| e*dx = dtanz.

= ¢ —_1 ¢t L cot?sds =— L d J
JE R J-tanstdtant 3 tanzﬂ— 2 Jcot tde 5 (ta 5 esclzde + | de)
=—% et cot 14+ 0 =— = (‘"C;% e + arctane® + ).
_ dx
il 1.24(2001,) SRJ .
22 +1) V& F1 1+

x

M 4 = tant. Wl dx = sec’tds.

costdt : _ x
R = J- 15 st arctansint + C = arctan T +C. T

Bi1.1
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